
Complete work in the exercise books provided 

Challenge 1: Subtraction using pictures 

 

 

 



Challenge 2: Subtraction not crossing 10 

 

 

 

 

 

 

 

 

 

 

 

 

Questions for discussions 



Challenge 3: Subtraction not crossing 10: Reasoning and problem solving 

 

 



Answers: 

Challenge 1:  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1. 12- 6= 6 

 

2. 7- 4 = 3 

 

3. 10-8 =2 

 

4. 8 – 5 = 3 

 

5. 9- 2 = 7 



Answers 

 Challenge 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answers  

1. First there were 16 biscuits. 

Then 5 were eaten.  

Now there are 11 biscuits.  

16- 5= 11 

 

2.    

 

 

 

Take away 9 counters.  

 

9 – 9 = 0 

3.  

20-9= 11 

20- 8= 12 

18-6=12 

19-4=15 

9 

9 0 



Challenge 3: 

 

 

 

Tommy is correct because 

first there were 17 cakes. 

Then zero was taken away. 

Now there are still 17 cakes.  

 

 20- 9 = 11 

19 - 8= 11 

18 – 7 = 11 

17 – 6 = 11 

16 – 5 = 11 

15 – 4 = 11 

14 – 3 = 11 

13 – 2 = 11 

12 – 1 =11 

11- 0 =11 


